Supporting Information for

Switchable reactivity of acylated o, -dehydro-
amino ester in the Friedel-Crafts alkylation of
indoles by changing Lewis acid

Elena Angelini, Cesarino Balsamini, Francesca Bartoccini, Simone Lucarini, and Giovanni Piersanti*

Institute of Medicinal Chemistry, University of Urbino “Carlo Bo”, Piazza del Rinascimento 6, 61029 Urbino (PU),
Italy. Fax: +39-0722-303313; Tel: +39-0722-303320.
e-mail: giovanni.piersanti@uniurb.it

R o

. COORs COOR,
R’J\/\\ ) / NHCOR;5 SL(:E Ro hf:j Rl o \NH CORs
D
L LAy
Ry :/C OORy Ro
NHCORs

Highly regioselective electrophilic substitution of indoles with N-acetylated o,p-dehydroalanine
methyl ester, promoted by different transition metal salts was achieved. The orthogonal
regioselectivity provides an efficient protocol toward highly functionalized 3-indolyl-a-amino
acids. The mechanism of the reactions was explored by NMR studies.

Index
l. General Information S-2
Il. Experimental Procedures and Characterization Data S-3
lll. Effect of Lewis Acids in the Friedel-Crafts reaction S-8
IV. Substrate scope for the Friedel-Crafts reaction S-9
V. NMR spectra of the compounds S-10
VI. COSY NMR spectra of the compound 4b S-23
VII. "TH NMR titration of 1 with EtAICI, in CDCl; S-24
VIII. "H NMR titration of 1 with Bi(OTf); in CDsCN S-25

S-1



l. General Information

General Procedures: All reactions were performed in round-bottom flasks, under a
positive pressure of nitrogen. Column chromatography purifications were performed
under “flash” conditions using 230-400 mesh silica gel. Analytical thin-layer
chromatography (TLC) was carried out on silica gel 60 F2s4 plates, that were visualized
by exposure to ultraviolet light and by exposure to an aqueous solution of ceric
ammonium molibdate (CAM). The 'H peak assignments were supported by 2D-COSY

experiments.

Materials: All reagents and solvents were used as supplied by common companies.

Instrumentation: Melting points are uncorrected. Proton nuclear magnetic resonance
("H NMR) and Carbon-13 nuclear magnetic resonance (*C NMR) spectra were
recorded on a 200 MHz spectrometer, using CDCIl3 or DMSO-dg as solvent. Chemical
shifts (& scale) are reported in parts per million (ppm) relative to the central peak of the
solvent. Coupling constants (J values) are given in hertz (Hz). ESI-MS, only molecular
ions (M+1) are given. Infrared spectra were obtained on FTIR spectrometer,
absorbances are reported in cm™ (intensity of absorption, s = strong, m = medium, w =

weak, br = broad).

S-2



Il. Experimental Procedures and Characterization Data

General Procedure for the Michael addition of various indoles to methyl-2-

acetamidoacrylate (1):

A 1 M solution of EtAICI; in hexane (2 mmol, 2 mL) was added dropwise to a stirred and
cooled (0°C) mixture of methyl 2-acetamidoacrylate 1 (143 mg, 1 mmol) and indole (2a) or
substituted indoles 2b-j (1,5 mmol) in dry CH2Cl, (4 mL) under a nitrogen atmosphere. The
mixture was stirred at 0°C for 2 h, then carefully poured into an ice-cold saturated aqueous
sodium hydrogen carbonate solution (10 mL). The resulting suspension of Al(OH); was
filtered through Celite and the aqueous layer was extracted with dichloromethane. The
combined organic layers were dried over sodium sulfate, filtered and concentrated under
reduced pressure. The crude product was purified by flash chromatography (column size:

15 x 1,5 cm) on silica gel to give the product 4a-j.

N-Acetyltryptophan methyl ester (4a): Prepared according to General Procedure. The
COOMe compound 4a was isolated as a white solid (75% yield) after flash
NHCcoMme Chromatography on silica gel (ethyl acetate). Spectroscopic data
@[\g obtained were in accordance with those reported in: Bucciarelli M.,
” Forni A., Moretti I., Prati F., Torre G. Tetrahedron: Asymmetry 1995,

4a 8, 2073. "H NMR spectra of 4a is reported at S-10.

N_-Acetyl-N-methyltryptophan methyl ester (4b): Prepared according to General
COOMe Procedure. The compound 4b was isolated as a yellow oil (60%

yield) after flash chromatography on silica gel (ethyl acetate). TLC

NHCOMe
\ (EtOAc 100%), Ry : 0.49 (UV, CAM): 'H NMR (200 MHz, CDCls): &
N 1.97 (s, 3H, NHCOCHs), 3.30 (dd, 2H, J; = 5.3 Hz, J» = 1.1 Hz,
4b CHy), 3.71 (s, 3H, COOCHs), 3.75 (s, 3H, NCH3) 4.89 — 4.98 (m,

1H, CH), 5.98 (br d, 1H, J = 7.5 Hz, NHCOCHs3), 6.83 — 7.53 (m, 5H, ArH); 3C NMR (50
MHz, CDCIs): & 172.3, 169.6, 136.7, 128.1, 127.2, 121.6, 119.0, 118.4, 109.2, 108.3, 53.0,
52.1, 32.5, 27.3, 23.0; FTIR (CH2Cly) Vimadcm™ : 3293 (br), 2951 (m), 1743 (s), 1655 (s),
1545 (s); MS (ESI) : 275 (M+1); Anal. Calcd. for C15H1sN203 % C, 65.68; H, 6.61; N, 10.21;
Found % C, 65.69; H, 6.62; N, 10.22. 'H and "C NMR spectra of 4b are reported at S-11.

S-3



N-Acetyl-2-methyltryptophan methyl ester (4c): Prepared according to General
COOMe Procedure. The compound 4c¢ was isolated as a pinkish solid (66%

yield) after flash chromatography on silica gel (ethyl acetate).

NHCOMe
A\ Spectroscopic data obtained were in accordance with those
” reported in: Ritchie R., Saxton J. E. Tetrahedron 1981, 24, 4295. 'H
4c NMR spectra of 4c¢ is reported at S-12.

N-Acetyl-2-phenyltryptophan methyl ester (4d): Prepared according to General

Procedure. The compound 4d was isolated as a white solid (52%

C;):CM;Me yield) after flash chromatography on silica gel (cyclohexane / ethyl

N\ pp acetate 7 : 3). Mp: 85 — 86 °C; TLC (cyclohexane / ethyl acetate 3 :
H 2), Ri: 0.57 (UV, CAM); "H NMR (200 MHz, CDCl3): 3 1.63 (s, 3H,
4d NHCOCH;), 3.26 (s, 3H, COOCHs), 3.54 (d, 2H, J = 5.4 Hz, CH),),

4.76 —4.86 (m, 1H, CH), 5.77 (br d, 1H, J = 8.2 Hz, NHCOCHS3), 7.07 — 7.57 (m, 9H, ArH),
8.19 (br s, 1H, NH); 3C NMR (50 MHz, CDCl3): 6 172.1, 169.5, 135.9, 135.7, 133.2, 129.4,
129.1, 128.3, 128.0, 122.5, 120.0, 118.9, 110.9, 106.9, 52.8, 51.9, 26.6, 22.8; FTIR
(CDCls) Vimaxdem" : 3391 (br), 2920 (m), 1731 (s), 1649 (s), 1567 (s); MS (ESI) : 337 (M+1);
Anal. Calcd. for C20H20N203 % C, 71.41; H, 5.99; N, 8.33; Found % C, 71.32; H, 6.02; N,
8.27."'H and *C NMR spectra of 4d are reported at S-13.

N, -Acetyl-1,2-dimethyltryptophan methyl ester (4e): Prepared according to General

Procedure. The compound 4e was isolated as a white solid (35%

COOMe
NHCOMe yield) after flash chromatography on silica gel (ethyl acetate). Mp:
N 134 — 135 °C; TLC (EtOAc 100%), Rs: 0.55 (UV, CAM); '"H NMR
N\ (200 MHz, CDCl3): & 1.93 (s, 3H, NHCOCHj3;), 2.31 (s, 3H, a-
de indole CH3), 3.28 (dd, 2H, J1 = 5.0 Hz, J> = 1.1 Hz, CHy), 3.65 (s,

3H, COOCHs3), 3.68 (s, 3H, NCH3) 4.85 — 4.95 (m, 1H, CH), 5.97 (br d, 1H, J = 7.8 Hz,
NHCOCHS;s), 7.00 — 7.41 (m, 4H, ArH); "*C NMR (50 MHz, CDCls): & 172.5, 169.5,
136.5, 134.5, 128.1, 120.8, 119.1, 117.6, 108.7, 104.7, 53.0, 52.3, 29.5, 26.9, 23.2,
10.2; FTIR (CH2Cl) Vmax/cm™: 3385 (br), 2950 (m), 1741 (s), 1653 (s), 1541 (s); MS
(ESI): 289 (M+1); Anal. Calcd. for C1sH20N203 % C, 66.65; H, 6.99; N, 9.72; Found %
C, 66.66; H, 6.94; N, 9.66. "H and "*C NMR spectra of 4e are reported at S-14.

5-4



5-Methoxy-N-acetyltryptophan methyl ester (4f): Prepared according to General
COOMe Procedure. The compound 4f was isolated as a white solid

(77% vyield) after flash chromatography on silica gel (ethyl

MeO NHCOMe
N acetate). Spectroscopic data obtained were in accordance
” with those reported in: Irie K., Ishida A., Nakamura T. Chem.
af Pharm. Bull. 1984, 6; 2126. '"H NMR spectra of 4f is reported

at S-15.
5-Bromo-N-acetyltryptophan methyl ester (4g): Prepared according to General
COOMe Procedure. The compound 4g was isolated as a light pink solid

(65% yield) after flash chromatography on silica gel (ethyl

Br NHCOMe
\ acetate). Mp: 152 — 153 °C; TLC (EtOAc 100%), Rr: 0.50 (UV,
N CAM); 'H NMR (200 MHz, DMSO-dg): & 1.81 (s, 3H,
4 NHCOCHs), 2.99-3.10 (m, 2H, CHy), 3.58 (s, 3H, COOCHj),

4.40 — 4.54 (m, 1H, CH), 7.12 — 7.34 (m, 3H, ArH), 7.66 (s, 1H, ArH), 8.27 (br d, 1H, J =
7.3 Hz, NHCOCHS3;), 11.05 (br s, 1H, NH); 3C NMR (50 MHz, DMSO-dg): 6 172.2, 1691,
134.7, 128.9, 125.3, 123.2, 120.4, 113.3, 111.0, 109.4, 53.0, 51.6, 26.8, 22.1; FTIR (Nujol)
Vmadem™: 3323 (br), 2923 (m), 1731 (s), 1661 (s), 1530 (s); MS (ESI): 340 (M+1); Anal.
Calcd. for C14H15BrN2O3 % C, 49.57; H, 4.46; N, 8.26; Found % C, 49.67; H, 4.47; N, 8.22.
'H and "*C NMR spectra of 4g are reported at S-16.

5-Fluoro-N-acetyltryptophan methyl ester (4h): Prepared according to General
COOMe Procedure. The compound 4h was isolated as a light pink solid
F\@(g{NHCOMe (80% vyield) after flash chromatography on silica gel (ethyl
N acetate). Mp: 173 — 174 °C. TLC (EtOAc 100%), Rs : 0.49 (UV,
ﬁ CAM); "H NMR (200 MHz, DMSO-ds): 5 1.81 (s, 3H, NHCOCHs3),
4h 2.92 — 3.15 (m, 2H, CH,), 3.57 (s, 3H, COOCHs3), 4.42 — 4.53 (m,
1H, CH), 6.91 (dt, 1H, J; = 9.3 Hz, J> = 2.5 Hz, ArH), 7.20 — 7.36 (m, 3H, ArH), 8.35 (br d,
1H, J = 7.6 Hz, NHCOCHS,), 10.99 (br s, 1H, NH); "*C NMR (50 MHz, DMSO-dg): 5 172.5,
169.3, 156.7 (d, 1C, J = 230 Hz) 132.7, 127.3 (d, 1C, J=10.0 Hz), 125.8, 112.3 (d, 1C, J =
10.0 Hz), 109.9 (d, 1C, J = 4.5 Hz), 109.1 (d, 1C, J = 26.0 Hz), 102.8 (d, 1C, J = 26.0 Hz),
53.0, 51.7, 27.0, 22.3; FTIR (Nujol) Vmax/cm™ : 3402 (br), 2916 (m), 1735 (s), 1718 (m),
1655 (s), 1530 (s); MS (ESI) : 279 (M+1); Anal. Calcd. for C14H1sFN2O3 % C, 60.42; H,
5.43; N, 10.07; Found % C, 60.48; H, 5.39; N, 10.01. 'H and "*C NMR spectra of 4h are
reported at S-17.

S-5



4-Methoxy-N-acetyltryptophan methyl ester (4i): Prepared according to General

COOMe Procedure except that 1 mmol of 4-methoxy-indole was employed.

OMe NHCOMe 1he compound 4i was isolated as a white solid (63% yield) after
N flash chromatography on silica gel (ethyl acetate). Mp: 170 — 171

H °C; TLC (EtOAc 100%), R : 0.45 (UV, CAM); "H NMR (200 MHz,

4i CDCls): 6 1.87 (s, 3H, NHCOCHs3), 3.25 (m, 2H, CHy), 3.73 (s, 3H,

COOCHSs), 4.00 (s, 3H, OCHs) 4.65 — 4.75 (m, 1H, CH), 6.54 (d, 1H, J = 7.6 Hz, ArH), 6.85
(br s, 1H, NHCOCHS), 6.89 (s, 1H, ArH), 7.00 (d, 1H, J = 8.0 Hz, ArH), 7.11 (dd, 1H, J; =
8.0 Hz, J, = 7.6 Hz, ArH), 8.44 (br s, 1H, NH); 3C NMR (50 MHz, CDCl3) & : 172.7, 170.0,
153.6, 137.8, 122.8, 122.0, 117.3, 110.4, 105.2, 99.6, 55.1, 54.9, 52.0, 28.3, 22.9; FTIR
(CHoClo) Vamadecm! : 3355 (br), 2926 (m), 1735 (s), 1654 (s), 1541 (s); MS (ESI) : 291
(M+1); Anal. Calcd. % C, 62.06; H, 6.25; N, 9.65; Found for C4sH1sN204 % C, 62.12; H,
6.28; N, 9.70. "H and "*C NMR spectra of 4i are reported at S-18.

6-Chloro-N-acetyltryptophan methyl ester (4j): Prepared according to General

COOMe Procedure. The compound 4j was isolated as a light orange

NHcome Solid (57% yield) after flash chromatography on silica gel (ethyl

Qf\g acetate). Mp: 149 — 150 °C; TLC (EtOAc 100%), R« 0.47 (UV,
c H CAM); "H NMR (200 MHz, CDCls): & 1.97 (s, 3H, NHCOCHs),
4j 3.30 (dd, 2H, Ji = 5.3 Hz, J, = 3.0 Hz, CH), 3.70 (s, 3H,
COOCHs3), 4.89 — 4.99 (m, 1H, CH), 5.98 (br d, 1H, J = 7.6 Hz, NHCOCH5), 6.97 (s, 1H,
ArH), 7.09 (d, 1H, J = 8.5 Hz, ArH), 7.36 (s, 1H, ArH), 7.44 (d, 1H, J = 8.5 Hz, ArH), 8.24
(br s, 1H, NH); *C NMR (50 MHz, CDCls): & 172.3, 169.6, 136.4, 128.2, 126.4, 123.2,
120.4, 119.4, 111.2, 110.5, 53.0, 52.3, 27.6, 23.1; FTIR (CH2Cl2) Vma/cm™ : 3406 (br),
2924 (m), 1731 (s), 1654 (s); MS (ESI) : 295 (M+1); Anal. Calcd. for C14H15CIN2O3 % C,
57.05; H, 5.13; N, 9.50; Found % C, 57.11; H, 5.12; N, 9.53. 'H and *C NMR spectra of 4j

are reported at S-19.

S-6



N-Acetyl-a-(3-indolyl)alanine methyl ester (3a): Prepared according to General

COOMe Procedure. The compound 3a was isolated as a white solid (yield
NHCOMe depends of Lewis acid, see Table 1, S-7) after flash chromatography

N on silica gel (ethyl acetate). Spectroscopic data obtained were in
” accordance with those reported in: de la Hoz A., Diaz-Ortiz A,
3a Gbémez M. V., Mayoral J. A., Moreno A., Sanchez-Migallon A. M.,

Vazquez E. Tetrahedron 2001, 25, 5421. "H NMR spectra of 3a is reported at S-20.

N-Acetyl-a-(1-methyl-3-indolyl)alanine methyl ester (3b): Prepared according to

COOMe General Procedure. The compound 3b was isolated as a colorless
NHCOMe ) (50% vyield) after flash chromatography on silica gel (ethyl

3 acetate). TLC (EtOAc 100%), Ry : 0.56 (UV, CAM); 'H NMR (200
N\ MHz, CDCls3): & 2.00 (s, 3H), 2.12 (s, 3H), 3.71 (s, 3H), 3.78 (s, 3H),
3b 6.60 (br s, 1H), 7.11-7.27 (m, 4H, ArH), 7.77-7.82 (m,1H, ArH); "*C

NMR (50 MHz, CDCls) & : 173.2, 169.1, 137.4, 127.5, 125.0, 121.9, 120.1, 119.7, 113.9,
109.7, 58.5, 52.8, 32.9, 23.6, 22.3; FTIR (CH2Cly) Vmadcm™ : 3289 (br), 2960 (m), 1745 (s),
1665 (s), 1541 (s); MS (ESI) : 275 (M+1); Anal. Calcd. for C1sH1gN>O3 % C, 65.68; H, 6.61;
N, 10.21; Found % C, 65.61; H, 6.62; N, 10.31. 'H and "C NMR spectra of 3b are
reported at 21.

N-Acetyl-a-(5-bromo-3-indolyl)alanine methyl ester (3c): Prepared according to

General Procedure. The compound 3c was isolated as a

COOMe
B NHCOMe colorless oil (61% vyield) after flash chromatography on silica gel
A (ethyl acetate). TLC (EtOAc 100%), R : 0.60 (UV, CAM); 'H NMR
N (200 MHz, CDCls): 8 2.05 (s, 3H), 2.09 (s, 3H), 3.68 (s, 3H), 6.96-
3c 6.98 (br m, 2H), 7.11 (dd, 1H, J: = 0.5 Hz, J» = 8.6 Hz, ArH), 7.21

(dd, 1H, J1 = 1.8 Hz, J, = 8.6 Hz, ArH), 7.78 (d, 1H, J = 1.8 Hz, ArH), 8.98 (br s, 1H, NH);
®C NMR (50 MHz, CDCls) & : 173.7, 169.4, 135.3, 126.2, 124.9, 124.7, 121.9, 114.4,
113.2, 113.1, 58.4, 53.2, 24.0, 22.3; FTIR (Nujol) Vmax/'cm™: 3325 (br), 2926 (m), 1732 (s),
1660 (s), 1535 (s); MS (ESI): 340 (M+1); Anal. Calcd. for C14H1sBrN2O3 % C, 49.57; H,
4.46; N, 8.26; Found % C, 49.63; H, 4.48; N, 8.23. "H and "C NMR spectra of 3¢ are
reported at 22.

S-7



Ill. Effect of Lewis Acids in the Friedel-Crafts reaction

COOMe COOMe
NHCOMe
\ COOMe MX, NHCOMe
©f> + :< (2 equiv.) N\ . N\
N NHCOMe CH,Cl, N N
H 1 H H
2a 3a 4a
entry MXn T (°C) yield % 3a/4a
12 EtAICI, 0 10 0/100
2 EtAICI, 0 75 0/100
3be EtAICI, 0 58 0/100
4° EtAICI, 83 50 0/100
5 BF3*OEt; 0 NR° -
6 GaCls rt NR° -
7¢ InCl3 rt NR° -
8 InCl3 0 NR° -
9 LiClO4 rt NR° -
10 MgBr; rt NR® -
11 Sc(0Tf)s rt NR° -
12° TiCly rt 30 0/100
13 ZrCly 0 65 0/100
14° ReCls rt 55 100/0
15 IrCly rt NR° -
16° NaAuCls*2H,0 rt 46 100/0
17 Cu(OTf), rt NR° -
18 Zn(OTf), rt NR° -
19° Bi(OTf); rt 62 100/0
20 CF3SOsH 0 NR° -
21° HCI 0 NR° -
22 Amberlyst® 0 NR® -
23 Montmorillonite 0 NR® -

2 1 Equiv. of LA was used; ° 1,2-dichloroethane was used as a solvent; ° no reaction
occurred; ¢ H,O/THF 9:1 mixture was used as a solvent:® the reaction was carried out for 4
h; " the reaction was carried out for 24 h; 9 HCI 4 M solution in dioxane was used.

Table1.

S-8



IV. Substrate scope for the Friedel-Crafts reaction

R, COOMe
R
mR3 . :/\COOMe (2 '\e/lq)fjniv).)} 1\\ \ N:SCOMG o
R, NHCOMe  CMCh =N
2a-j 1 0°C,2h R2
3a-c

entry Indole MX, Product yield %
1 Indole (2a) EtAICI, 4a 75

2 N-Methylindole (2b) EtAICI, 4b 60

3 2-Methylindole (2c) EtAICI, 4c 66

4 2-Phenylindole (2d) EtAICI, 4d 52

5 N-Methyl-2-methylindole (2e) EtAICI, 4e 35

6 5-Methoxyindole (2f) EtAICI, 4f 77

7 5-Bromoindole (2g) EtAICI, 4q 65

8 5-Fluoroindole (2h) EtAICI, 4h 80

9 4-Methoxyindole (2i) EtAICI, 4i 63
10 6-Chloroindole (2j) EtAICI, 4j 57
11 Indole (2a) EtAICI, 3a 62
12 N-Methylindole (2b) EtAICI, 3b 50
13 5-Bromoindole (2g) EtAICI, 3c 61

Table 2.

S-9



V. NMR spectra of the compounds

ECILT—
0896 — —

POCE € —
LOEEE—
POPEE —
69666 —=

I1TIL€ —

£810°9—
$EP0°9 —
0£§0°9 —=

9969 —
$986°9—
1880°L —
SP60°L—
6/C1'L—
06C1°L
9761, —
9191, —
6L91'L—
SSLIL—
690 —
SEITL—|
81#TL—|
069, —
00LT°L—|
Ll —
pELTL—
966E°L —
£65€°L—
S68€°L—
CE6£°L—
11661
$6ISL—
$ccsL—
1L66°L—
£095°L —

“

Tn

COOMe

NHCOMe

"= 6607

=

PEEYE

68¥C’1

ISt

rPLIIE
rozz’l
L8]

0000°1

[p4323u]

8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5
(ppm)

9.0

9.5

S-10



NE Nt oeocoabhhaoooInmMmMooONin S~ o A=as) 0O Moo M~ o RN %o
FTFSUOMNANAMNONSNSTIEN NSO 0D %o 0NN o oo S ~
MOSTSTAMNM AN DR XN MmN n O~ ~CO % X OO TFNAUAD o~ NN DD o
NAR I NN NSNS NO O X S DA Do LN o onon ey >
N N N N N N N N N N N N N N N N N N N N N N N NN &3 O Y Y Y Y o on oo en s ~
e e e s e o [ | [ . ‘ | \ [ ‘
I | | ] | I
‘ |
“ i
| | |
S T T I il I i
% ne| ~ ~ =3 x| © ~
& ~ ¥ < ~ > NS o~ o
- ~| | > o~ ~ nis -~ >
s =N N > < SRS > )
NN = N -
I B T B e —— e e
9.5 9.0 8.5 8.0 7.5 7.0 6.5 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5
(ppm)
"y ~ NN S 3=
~ o ~ S NS NS on oSN o > DN
DA ~ NN DD NN SR Son X o
el =) o~ ~a TS o N nS o ST Ra) N~
A S owN ~X X NI S e N
N0 ~ NNy NN~~~ >SS NN oy N N o
~~ ~ ~~ o~~~ ~~ NN "N MmN N
N R - | .
| [ | Il |

A0 00 050 0 D 190 R 00 00 5 50 g S i um\‘ AN g e PO P s

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20
(ppm)



0.5

1.0

1.5

£€88°0

10§6'] — — —— = 0000°¢

2.0

60rET— —_— 8620°€ [

2.5

ProC € —
C88C°€—
6 E— — -

3.5

$I189°€ — -

4.0

61987 —
6#68°F —
2806 — :
1126 — i [
75867 —

7196t —=

T
4.5

T
5.5

2800°9 —
LSP09 — —=

T
6.0

LEEOL —
6170°L—
$890°L —
CLLOL—
8280°L —
#860°L —
1EITL
S0Cl'L— =
961°L — -
96SIL —

9P9I'L — -
0LrTL—|

66PC°L—|_

1$§0L—) H
8897°L—|
00LT°L—
LE8TL—|
6Tl —
096C°L — i [
S86E°L—
a017°L—
69Cr 'L —
8667 L —
1Ppr L —
PLS6L —
6£96'L —
SFI6'L — [paSauy [

6.

NHCOMe

7.0

COOMe

4c

7.5

©
=Y
X
x
S
T

8.0

8.5

T
9.0

9.5

(ppm)

S-12



MO N RO~ =N DD NN NN QIS o~ ~
AN S SN ON SN R Y o0 INRQ oS =X IS
NSO NSI U0 TR S~ S QAN AS o ~
BRI A I RERE R BNON S0 95 90 %0 %0 B "o S
g NN NN NN NN NN N NN Coltel Y OY Y Y Y Reen ~
L R A | (I Il

| [T | it [

COOMe

NHCOMe

S—ph
N
H |

4d

'§ 1 | (. I | [ [ [
Yy > N S ~[|~ n
& NEES o S SRS IN
N NEES S S ISR I
= MR ) < SIS )
> s o~ > ~ o™ o~
L o e L B o o L M e e e e AL B e e B e s LA B

9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 45 4.0 3.5 3.0 2.5 2.0 5 1.0 0.5
(ppm)

v QNN A =S %O~ ~ o
IS AIATHES == SIS nom © o ~ o
NS AT AR MNSD NF ™ a S SIS S NS
== ARNITFL w3IX I § 2Se =2 g ¥
o R AN NS S S 8 NN % % N
o~ LR R ks kS K R s K ] ~ NN o o~ o o~
~= T~~~ ~ = NN " N
‘ ‘ [ ‘ [ ‘ ‘ ‘ [ | ‘ ‘
[ [ 1 |

A a0 5 o \‘u\n R e T N o b g bt btk A
A T

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)

S-13



MOV TNSNDONDDAATTOND as maTNom SO 2! [N N

AAFANTSHX NSO RN N D S= TAFAXN SS INY S N

I Y S X NRN Y NSA SN ~SRN YYD IS INSQAN S8 A= I x

FTEXXTAANNANNRNN N~~~ ="SSSS SS QXS % w % TS !N o S

I N N N N N N N N N N N N N N LN N NN NSRS Y Y Y Y Y e menen ~ ~

S o o A | [ ‘\\\\ ‘ ‘
AT I il I |

COOMe |

NHCOMe

5.9863
1.9327 =

3.0000

2.9812

6.5 6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2. 1.5 1.0 0.5

>

o~ ~% N A~ NS

n S ¥ QX =~ N NN ~ o0 <o oo >
ISES) ax 2 I8y S S IR o AR X
ot e S 1~ N nx S S~ NS x
o SY K8 SN % X N ST BRI a3
NS M A AN S < N o e XS o S
~ = ~— ~ ~—— ~ =< NI " SN ~
‘ ‘ ‘ ‘ ‘ N ‘ ‘ ‘ - ‘ ‘ | ‘ ‘

| I 1 | |

R L e T e A iy i 050 00000 0 0000 00 0 o 0 45

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)

S-14



89461 — — - - . 9266°C

099C°€ — i
006C°€ — i
ZE6T°€—
656§ —= _ - T 59561

L8C8°C
6296°C

8696 — — —— =
ELPSE —

SH68F —
LIT6F —
0rE6°F — i
£616'7— !
196t — _ .

09965 = —— 0000°1

07609 —

61619 — £€L6°0

COOMe
NHCOMe

96869 — I TIL60
91007, -~ \

£00T°L—
1£02°L —
TPl — i
0LPTL— |
00LT°L— ;
€868 — !

MeO
T

T
e e L BN e e e e LA e s LA A e e e LSS s

[p4327U]

0.5

2.0 1.5 1.0

2.5

4.5 4.0 3.5

5.0
(ppm)

S-15

5.5

6.0

9.0 8.5 8.0 7.5 7.0

9.5



©

B 0N D WM NN n T ;g M % %0 m STIVNXANDOVOSIBODNX DA

b 20 90X WX 15 O X s N SEREE R IR EEREERER NG

< X Q NGNS~ XX ¥ SSNCm BN ATHN DX DS S P~ D

~ RRAAMNMARRR e R NNANSI[[RANN RN

~ o0 00 BN BN DN BN BN BN BN B B BN N AR R N elslaslaciasiiaTolia I I ILa ol e T o]
L Y B A (- ‘\\‘\\\\\\\\\\\

I I 1 ] [} I [

COOMe

Br NHCOMe

Ir=z

4g

go x o NS ~ o % ~
& N N S| =S I o I N
= Q ] NIEEN o = S S
= ) < QS| < < < <
S ~ S|~ ~ ) ~ )
L o o L o o o L o L B L B o R LA o o B R
11.0 10.0 9.0 8.0 7.0 6.0 5.0 4.0 3.0 2.0 1.0

o N N=ND My~
n e A4 NMYN oAn oo QNN XN I
* a4 YN S wan =5 SAaTO~mnSy
R N S mMAaY mow aa eyasgne=S
ISR ¥ wenS Ny S%e TR N~
NS o NaaS ==3 o~ SSA XN W B S
~~ ~ N ——— m—= e R R KRR NR N
“ “\“\\‘ \‘ \‘\\\\\\\
| I | LI | |

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)

S-16



~
= NI NRANO N ANT DD aNYSQS AN NS TONRAND DD
x SYNSSIENFINFTIIN D5 S =S = TS YA SRS
N N e~ AN YT~ O AABCE N NN N oA NS
< MO ANNNNNRN NN XX nIIITY N INSSSanN YR
= B NN NN NN NN KNG GS 688 N ¥ ¥ Y ¥ oo e en e e o N N AN N~

e e Ay | [ “‘\\\\\\\\\\\

Il e 1] T I |

COOMe

F NHCOMe

Ir=z

—

=
S
N
8 IN I 2 =
& X o N
=2 =Y X ~ S
= ) ) NMEN
=] > o~ ~
I LA e o o o e A e LA IR o s e
11.0 10.0 9.0 8.0 7.0
~ wo MR NN NN iy
B NG NSNS SRsaaa A0 Ny AN NSO ARD
IS S N NIAA= VXIS TN~ A oo NaoS <M=
IS S ANNG NN G [ SN nNNANSTReNS ™
NS "o maaa ~~S333 IS o~ SRR BB N
~~ ~ o~ _——— m— SIS S e R R R KRN
“ “ [ \\\\\‘\‘ ‘\ ‘\\\\\\\\
| I I | | (i | |

R I 0 0 RS N 515 A5 O 0080 0 M 0y 03 A e A A Ao

O A T

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)



S MM~ ah o ST MmMnS %o N M SO~ %% N
S NNV~ N TN Y % N SN TTISIOXC e
F RIS Nm~RNNORNGY O "N~ SN X N B SoV~X T SRS
I AnISSSaExs an RN T N S S b by e T =8
el NN SO OO S O\ A o~ o~ helichiaRicliclacias gl ~~
\\\\\\\\\\‘\‘ [ “‘\\\\\\\ ‘\
(e | (] (I |

COOMe
OMe
NHCOMe

Iz

4i

3 f [ [ |
8 NIERIENG S N B
) ||~ ~ S S D
= ~i = > = i~
= =] < S <
Nl ~] | < ~ ~ el
- T T T T
9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 55 5.0 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5
(ppm)
~ o =) ~ S 0~ oo
o N ~ ~ N~ S o D % o m SN e
o oo o ~ n D Rl &~ ~n N NS NN
0D =] = XS ™ N ~ oD 0 o~ o
NI o ~ NN S v N SN S~ w
LN el o NN~ ~ < D NN o S+ oo o~
~~ ~ ~ ~~ o~ ~ =~ NN N e N~
S I . . |
H | Il I

A g b \‘\‘ L T T A R sl R e T R

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20
(ppm)

S-18



~NOOSTNOD AN QN N N oo N on N 0O W oy S~ ~NTOwn Qom D

STV TTANSTSHE TSN ~0O O ~ NN N oDy o~ S ™ So R

OSSN o NN~N~O NN YY =] DO A >SS NS NN~

AIIMANNG NSNS SSASS SS SREERE S8 medg R

CONMNNNNNNNNNNNNG S A<le} A Relagl o on o oy NN~

L e o | [ . ‘\‘\\\ ‘\‘
| mrrmn | L} I

COOMe

NHCOMe

N
Cl H

40.5531

[N Noann A SN
S ¥ Yoxom R nS o, © % ~
=~ IS o N oo XN A~ SESEN N -
e S o aYaYT™ ) nS S = S
N S SIS X ~< NN ST N~
e ) NN~ ~= N NS el N
~~ ~ ————— ~~ NN " NN
| [ ‘ ‘ | [ | ‘ ‘
| [ | 1 |

‘ “‘m‘u‘ A0 A A 0 LS g A M 1A oL ‘vumMmuu‘u\\wm ORI )

A B g 1 0 R R 05 A e A

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)

S-19



L1T0°T—

2601 —

1869°€ —

012L9—
860°L —
8P01°L —
SEEI'L—
PirlL—
68€1°L —
POLIL —
96L1°L—
01T, —
00CC'L
8L L —
E6STL—
LILTL—
1P§€°L —
8S€°L —
r99€°L —
SPOEL —
007, —
EPOFYL —
£994°L —
IvLLL—
608°L —
£C18°L—
11§68 —

i

|

COOMe

NHCOMe

3a

ot

8L00°¢

£686°0

" [p4323u]

0.5

1.0

1.5

2.0

2.5

Lol

8.0 7.5 7.0 6. 6.0 5.5 5.0 45 4.0 3.5
(ppm)

8.5

9.0

9.5

S-20



CANID NSO Y NN~ > o ~r Y
XA ASRNSNo NN ) R IS SN
SNTSAR S Q00N W~ S S < ~<
S N ] ° [Ny ~ K ~3
NN N N N N N NN S Lol o (RN
\\\\\\\\\\‘\ ‘ | | |

(LRI | |

COOMe
NHCOMe

[
3 | I [ (IR} [
S o x o~ S|x S|
& i Y s S|= S|e
N N - < N S| »
= ) ] ) S S| =
S w S A o5 | i
L e o L e e e A e L e e L e B L L e e e A
9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5
(ppm)
N~ o S NS Mm~ N
Do ~ T~~~ N~ Reldhg] > x =~ N
R o = S=8ha N o RESES S = X N~
a = ~ A ~N N nS o NS = oY
) ~ N~ S L= N N > Skl
NS ) anaaN ~ S NN < o I [SEN]
~ o~ ~ —~— ~ = NN W o o~
\\\\‘ “ [ ‘ ‘ ‘ ‘\
“ [ | |

W N gl g A i i \\uﬂ el A W W o W gy uh‘w il o g i O R s !

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)

S-21



Ny FTOSMY MR DN~ ~ %~
> NFSANASN SIS NG ) IS
% IR TN ASI N R"S OO % X 9
SN ENAaaa~~~~I3 3 ° S<
o5 NENNNNNNNNNN S S o o~ e
[ oy [ |

I LRI |

COOMe

NHCOMe
Br

Irz

3c

| ] )
< [ [ I
15y % LIRSS S
& S SIS S
= =~ DS S
= < NN <
~ ~|~|a o
e B L e L e B s e e L B s L A e R L e s
9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5 5 4.0 3.5 3.0 2.5 5 1.0 0.5
(ppm)
NS > SN %o o,
[N N XSS IAmn® Soa NS S
Q= n AT OND S~ NI ISR
o N~ QN SO A~ S ~ %0 o
o X OGS Y YN Yo N 2 N S
[N MR R RN NN < e oo
= =< S NNNS =SS ENENIN woon [NEN]
| A . || |
| | Il |

3 00 0000 20 O 000 000 0 0 0 0 0 0 A A o b g i i

190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
(ppm)

S-22



VI. COSY NMR spectra of the compound 4b in CDCI;

Hb Hp'COOMe
{Ha NHCOMe M Ha Hb (ppm)
N\ ] _ J I |
Me
4b ‘
) 7
2.0
Hb |
4.0
Ha
6.0
NH ’
(ppn®.0 6.0 4.0 2.0

All the other proton signals assignment were done based on this 2D-NMR spectra.

S-23



VII. 'H NMR titration of 1 with EtAICI, in CDCl;

(0]
M JVYOCHC, Compound 1 : EtAICI,
Hs;C N | 1:9

St
\\\\\\\\\\\\\\\\\\\\\\

|
3b 3a |
o H ‘ Compound 1 : EtAICI,
‘ 1 * 1 |
H3C)\N OCHj4 |
H (6] ‘ W | x :
T . RN N UV e M /o
3b 3a
o H-H
8 \ Compound 1 : EtAICI,
HyC~ "N OCH3 1:0.5
H o
3b 3a
2.0
OCH
el 3 He o OCHs COCH; |
o NH 3a 3b "
1 | ! ‘3‘.

9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5
(ppm)

S-24



VIIl. '"H NMR titration of 1 with Bi(OT#f); in CD;CN

o
AHJL(O 1:0.5  Bi(OTf)s

OMe
ot . ‘ Jl,leLM._
(0]
A” o
OMe
1

T —— —— wHH‘HH“Hwwmwuu“wam‘"ﬂh‘u‘
9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2.0

(ppm)

S-25



